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EE123
Digital Signal Processing

Lecture 25

Based on lecture notes by Prof. Murat Arcak
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Announcements

• Miki cannot be here today
• Lab bash during discussion section
• Lab 2 part 2 extended to 11:59pm today

2

M. Lustig,  EECS UC Berkeley

Rational system response

H(z) =
b0 + b1z

�1 + . . .+ bMz�M

a0 + a1z�1 + . . .+ aNz�N
=

b0
a0

QM
k=1(1� ckz

�1)
QN

k=1(1� dkz�1)

NX

k=0

aky[n� k] =
MX

k=0

bkx[n� k]

In real life, we get linear difference equations:

Example: y[n] = x[n] + 0.1y[n� 1]
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Magnitude Response

|H(ej!)| = | b0
a0

| ·
QM

k=0 |1� cke
�j!|

QN
k=0 |1� dke�j!|

|1� dke
�j!| = |e�j! � dk| = |v1|

Consider one of the poles:

Magnitude of products is product of magnitudes
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Magnitude Response Example

H(z) = 0.05
1 + z�1

1� 0.9z�1

|H(z)| = 0.05
|v2|
|v1|

Example:
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Simple low pass filter

HLP (z) =
1� ↵

2

1 + z�1

1� ↵z�1

↵ =

1� sin(!c)

cos(!c)
wc is the 3dB cutoff frequency

|↵| < 1
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Simple high pass filter

↵ =

1� sin(!c)

cos(!c)
wc is the 3dB cutoff frequency

HHP (z) =
1 + ↵

2

1 + z�1

1� ↵z�1

same as low pass

|↵| < 1
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Simple band-stop (Notch) filter

HBS(z) =
1 + ↵

2

1� 2�z�1 + z�2

1� �(1 + ↵)z�1 + ↵z�2

|↵| < 1
|�| < 1

1� 2�z�1 + z�2 = (1� ej!0z�1)(1� e�j!0z�1)Note:
cos(!0) = �
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Simple band-stop (Notch) filter

HBS(z) =
1 + ↵

2

1� 2�z�1 + z�2

1� �(1 + ↵)z�1 + ↵z�2

|↵| < 1
|�| < 1

Note:

HBS(⌥1) =
1 + ↵

2

2± 2�

(1 + ↵)(1± �)
= 1

↵ ! 1As                  poles approach zeros
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Simple band-pass filter

HBP (z) =
1� ↵

2

1� z�2

1� �(1 + ↵)z�1 + ↵z�2

|↵| < 1
|�| < 1
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Phase response

H(ej!) = ej!nd

|H(ej!)| = 1

$ h[n] = �[n� nd]

arg[H(ej!)] = �!nd

Example:

ARG is the wrapped phase
arg is the unwrapped phase

-
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Group delay

grd[H(ej!)] = � d

d!
{arg[H(ej!)]}

To characterize general phase response, look at the group delay:

For linear phase system, the group delay is nd
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Group delay
grd[H(ej!)] = � d

d!
{arg[H(ej!)]}

Input

Output

w1 w2

w1w2

For narrowband signals, phase response 
looks like a linear phase
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Group delay math

arg of products is sum of args
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Group delay math

Look at each factor:
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Look at a zero lying on the real axis
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Log magnitude

Phase

Group delay
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2nd order IIR example

Log magnitude

Phase

Group delay
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3nd order IIR example

Log magnitude

Phase

Group delay
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